1 2 3 4 5 6

Ul RIOI 1K
TA2022 R102 1K
R103 1K U100
o _— .
o z = = - ¥ 2 g = o = 8 8 3 E 4 Bl 2 PAIOSCIN swiwpD! —5SWIM
S o« 8 o 28 a9 3z = 8 o 5 g 4 % o 13) m > S & 2 & 2 E = PA2/0OSCOUT PD2 -
8 s 2 g 3B 2zE 2z ¢ z L @ 2 Z © s EQS 9 28 2 2 2 2 EED3 PA3/TIM2 CH3  AIN4/TIM2_CH2/ADC_ETR/PD3 —20 Y2 CHK
@ 5 & S R Z Z 2 0 & A z 8 v g £ O wn < 2 < S ®d A m a = CHEC & = =
£ £ 282 83<¢ <385 E28 28225 2 ¢ 3z53s3zgEEEE&E = = PB4/2C SCL  UARTI_CK/TIM2_CHI/BEEP/PD4 RS
- R ’ - - 2 PB5/12C_SDA USATI_TX/AINS/PDS
HMUTE - ~ UART RX
PC3/TIMI_CH3 UARTI_RX/AING/PD6
Sl oL e oL o] o ol o 2 g o of 2l oal e = of gl 7l 8 of 8l g 9 sb,z g g A HMUTE 4} pcamMi_CH4/CLK_CCO NRST RESETIEN: >V
2 INSHE PCS/SPI_SCK VDD |
GND GND GNIDGND DGND V5 UTE_PI OUTPUT PC6/SPI MOSI VCAP 8
e MUIE PC7/SPI_MISO vss —1 . S0
LS D‘l D \B DGND STMSSIOSF2 104 | 104
-]
MURSI20 URS1p0 o a 5
0K 0K
E VR ¥
D2 D4 DGND G 1R[]
URS120 MURS120 HR2| RS
T
R16 ||_"_|| R17 DGND V- V+ —
7T 104 | 104 ) 3
25 v
220F e | ps V& V-
W [J]R22 [T}zz4 R26 28 31
a
TP1 OP_L 104 LI IK < IK LuE INI_L INI_R
Ll RIS
OoP_L< e {— DD +SVIN2 L N2 R Ji01
TP2 OP_R 9K1 3 G2R-2
L2 R19
OP_R<t _e m—
=21 _—chz —==C27 28 —=—C29 _—cho R20
102 102 474 474 474 474 —
14 15 R2l
OKT
GND<t R23 25| R7 R2 R27 29 [ RO 3
=[xk |k o ok ——cat|fik |k Tor 0K
o 561 391
DGND DGND
TA2022 T
TS
bl P4 VNI0
l—l—taz l—l—tss 9 11 =—=C23 GND > VNI0
I 10000u | 680u 104 104 102
—=C7 ——C8 > GND 80mA Max
AC20_2 —— ] 104 104
[i7uF 104 104
34 36 10 12 =—=c2u
100000 | 680u 104 104 102
— JP100
o) 10uF | 104
—C101
Y N \7.re N TP5 V- 104
+ EE#/%\ jﬁ%blh?ﬁﬁ/ﬁi VN 10 CGND CGND  CGND
o v
JP1 IPS 1P7 105 COND
1 >AC20_1 1 >OUT R 1 >IN2 R CGND
2 >GND 2 >GND 2 > SGND - Vi
3 >IN2 L DGND 8 JP101 JP102
c20 ROl 77 \\_75GND 45V
ek GND) | 6 o == = oo, 2
P2 1P6 EGND N A 3CGND 100uF/10Y  1uF SWiM_ : 3
1 >INI_R S A LED3 A
1 >GND 1 >OUT L 2 > SGND ?{tﬁ Bj] EEE%
2 >AC20 2 2 >GND 3 D>IN1_L SWIM LED
AC20 L OUT INPUT 1
B Lol
A RNE ’ 12
CEN PN e AN V5 fin e TP60 Ver 11 2010-12-23




